YRV i i

A % A A % A
5\ W 4 B ﬂfﬁ?‘ g gz ﬁ[ﬁﬁmﬁf E\ WooB 4 AT ‘[ipfig‘ g g ﬁ[ﬁﬁmﬁjﬁ‘
LT/ AGRENERS) 18 3,300 AN — X —F A4 15 650
7 /BEBENERS 15/ 5,090 bR aryT 4 14 760
At (8 B —= 1,970 TN =Ry VT4 18] 920
P SE A 1k 210 B7 =KUY VEIAN 15 760
T OB 8 R — 1,970 7 v b 7 A4 b 1% 370
Z 7Y — v —®K 530 YUA—E VAR YA 1E 920
Bk ® B R 650 ARMY Y 7T A 1H 210
& N x 9 KB 1 650 ARy RTARAFETIN) | 1E 210
R X 9 5 1M 650 ZRYFIAR (5007 M) 1H 150
e A Uk 210 oy ameawia 160
£ JE 5 & A 1 150 R A& BB 1/ 430
s o1k 150 e E (v v X)) M 100
i x Kk B o1k 260 O M R K Uk 100
T B —=® 260 w2k kw150
B H# & H 1B 150 W A — & —F 4+ 15
AORE B 1A 100 B AN YAV IAL 15
A M = E - 370 A 2Ry va I 15
KHAXRIE 14K 150 v Tyn =K URIAN 15
= ‘ . S 7,010
A=y 3 g —5C 2,630 Y 7=k Vb4 15
v (w2 e <y 3 1,100 o Nk 18
~A47ukr (A 1A 870 TayMANZR Y AL 1]
B ot sake (B 1A 530 7 v k5 AN 15
3543/1%%%%1@ 870 R— =54k 1%
#H ML -—(A) 15 1,100 B g1¥a~vyvariah 15
i EHMAAL--(B) 1/ @ 530 s Jf V=) ARy bAR 17251 3,370
COOERES 1 310 K 7RVMAR AR M AR 1/251
S = 1 4R 530 7 v b7 AN 14
%8 = 1 P 700 BEERA IV 1K 30
2 1= 1 %E 990 Tuvxzs%— 15 530
EE S = I 2H 1910 - Bk PR B % 15 310
B B 2 /PR 650 O g EHAEKE 1A 210
kOB 2 F% 840 fi
%8 = 2 W 1,120
%8 = 2 4H 2,300
1 EERENT, XS (T A% UIR M ZS1REIEL, 2 HZ23E[ET5, ) I L £,
2 BT —F ORIV A~ Aok FEML, EEAMINCET,

3 EFEzEUMNIS00WARRIZTIE TET,

THFEAL(32HY)

HT——h

18

510 4

%

TAY VA~ A7 aA &

11

100

1




